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NO.18 When deploying an Eval Next-Generation Firewall (NGFW) within a customer environment for the purpose of generating a
Security Lifecycle Review (SLR) report, creation of which interface will not impact production traffic?

* Layer 3interface

* SLRinterface

* virtual wireinterface

* TAPinterface

NO.19 Which architecture allows a Palo Alto Networks Next-Generation Firewall (NGFW) to achieve high performance with all
security features enabled?

* single-pass parallel processing

* dual-pass processing

* multi-core processing

* parallel-pass single processing
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NO.20 What fileis needed from afirewall to generate a Security Lifecycle Review (SLR) report when creating the SLR?
* tech support file

* Panorama plugin registration file

* stats dump file

* gystem process corefile

NO.21 Using a comprehensive range of natively-integrated subscriptions and inline machine learning (ML), what does a
Next-Generation Firewall (NGFW) use to prevent known and unknown threatsin real time?

* Cloud Native Security Platform (CNSP)

* Cloud Security Posture Management (CSPM)

* Cloud Identity Access Management (CIAM)

* Cloud Delivered Security Services (CDSS)

NO.22 What are three unique benefits of the Palo Alto Networks Content-I1D? (Choose three.) Select 3 Correct Responses
* micro-segmenting network traffic based on the unique identification number of the content

* increasing latency as new threat prevention features are enabled

* detecting and preventing known and unknown threats in a single pass

* enforcing policy control over unapproved web surfing

* proactively identifying and defending against unknown, new, or custom malware and exploits

NO.23 Which architecture is unique to Palo Alto Networks and results in no additional performance overhead when enabling
additional features?

* multi-pass

* multiple-core threaded

* single-pass

* no-pass

NO.24 A firewall enabled as a decryption broker will take which of the following actions?

* forward clear text traffic to security chains for additional enforcement

* monitor the state of active connections to determine which network packets to allow through

* correlate a series of related threat events that indicate alikely compromised host on the network
* identify potential denial-of-service (DoS) attacks and take protective action

NO.25 Which two Cloud-Delivered Security Services (CDSS) would be appropriate for an organization that wants to secure internet
traffic on a perimeter firewall? (Choose two.) Select 2 Correct Responses

* WildFire

* Advanced URL Filtering (AURLF)

* Autonomous Digital Experience Management (ADEM)

* SD-WAN

NO.26 In which two of the following scenariosis personal data excluded from protection under the General Data Protection
Regulation (GDPR)?

Select 2 Correct Responses

* The data was automated as part of an information filing system.

* The data was generated in the course of apurely personal or household activity.
* The datawill be used for the prevention of criminal offenses.

* The dataisrelated to a person& #8217;s economic or cultural identity.

NO.27 Which Next-Generation Firewall (NGFW) deployment model allows an organization to monitor traffic during evaluations

[Q18-Q32] 100% Free PSE-Srata-Associate Exam Dumps Use Real Strata Associate Dumps With 37 Questions! | Page?2/3 |


https://blog.examslabs.com/?p=1030
https://blog.examslabs.com/?p=1030

This page was exported from - Exams L abs Braindumps
Export date: Sat Oct 5 4:32:19 2024 / +0000 GMT

without interruption to network traffic?
* Layer 2

* TAP mode

* virtual wire

* Layer3

NO.28 Which two of the following are ways that Palo Alto Networks CloudDelivered Security Services (CDSS) use confidential
information collected from users? (Choose two.) Select 2 Correct Responses

* |egal compliance

* attack retaliation attribution

* verification of entitlements

* verification of applicant statements

NO.29 Which section of a Security Lifecycle Review (SLR) report summarizes risk exposure by breaking down a detected attack on
the network?

* Advanced URL Filtering Analysis

* SaaS Applications

* Threats at a Glance

* Applications that Introduce Risk

NO.30 A Human Resources (HR) application has the URL of https://hr.company.com:4433/.

How should the & #8220; Service& #3221; column of the Security policy be set to match and permit this application?
* Define and then select a new custom Transmission Control Protocol (TCP) service with port 4433.

* Edit &#8220;service-https& #8221; to use port 4433.

* Set to &#8220;service-http& #8221;.

* Set to & #8220;application-defaults,& #8221; which will locate and match the HR application.

NO.31 The Security Operations Center (SOC) has noticed that a user has large amounts of data going to and coming from an
external encrypted website. The SOC would like to identify the data being sent to and received from this website.

Which Secure Sockets Layer (SSL) decryption method supported by Palo Alto Networks would allow the SOC to see this data?
* Forward Proxy

* Web Proxy

* Certificate Proxy

* Inbound Proxy
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